== A
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
SA: 08Il Ktel Bt
HEM: Hd LIl A
CHelr GlEURIAY 22 U XY EX (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o ool Xkel ot 19,943,278 10,815,382 9,127,896
= 10,810,206
Jl 130,402
& 9,002,670
e 2xel XN 8,855,761 2,619,891 6,235,870
= 2,519,214
J| 84,274
o 6,252,273
CldUeAY 2B 2 XY FA 8,855,761 2,619,891 6,235,870
= 2,519,214
Il 84,274
o= 6,252,273
MLHEH NESY(2D)(HY) 10,000 10,000 0
= 5,000
= 5,000
307 QI2t0| & 10,000 10,000 0
= 5,000
= 5,000
11 A EXAIEE X 10,000 10,000 0
OHE MLHEEH 29 XN 10,000
= 5,000
& 5,000
MYIMEH XNE29(=21) 2,605,883 2,091,430 514,453
= 2,399,212
= 206,671
308 XAHXIEH SOl A 2,605,883 2,091,430 514,453
= 2,399,212
o= 206,671
01 AIXSHMEMNEX= 2,605,883 2,091,430 514,453
OXNHJINEEHA T2 2 846,000
= 846,000
OMLHALCIE H 727,776
= 693,120
= 34,656
OMYHE 2F XA 1,032,107
= 860,092
= 172,015
22 ZANAHAMB2ULSIIIMAE NE 29 (=21) 230,004 0 230,004
= 115,002
& 115,002
308 XAHXIGH SO0l & 230,004 0 230,004
= 115,002
& 115,002
11 BI2SHUSEANSE AIS Y 230,004 0 230,004
OXd ZYHAHAMZLGIIIMEH XNE 89 230,004
= 115,002




SN O& TN Yt Dt
a8 axel K
Sl oEUTTIAMY LB L XY =X

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

| = 115,002

HAUEWHAHAFIXK(=2D) 84,274 125,691 N4, 417
J| 84,274

308 XAHXIEHSOIA 84,274 125,691 N4, 417
9] 84,274

01 AIXSHMENMNEX= 84,274 125,691 N4, 417
OALHOM HeIX 84,274
J| 84,274

JEaddpds RaEs N 5,314,900 0 5,314,900

201 LBt 9| 30,000 0 30,000

01 AP 22| H| 30,000 0 30,000
OHdHEUEHALHE REEES N 30,000

202 044l 2,000 0 2,000

01 2L Y| 2,000 0 2,000
OFHUHNLS PHES X 2,000

301 et A= 900 0 900

12 JIEtE A2 900 0 900
OYALBHYS PNES X8 900

308 XAHXIGHHM SO0l & 5,282,000 0 5,282,000

01 HXHHBIMNEXS 5,282,000 0 5,282,000
OZEHENWHAHEE FAES X 5,282,000

e FzEY Sotel A& 200,000 0 200,000

308 MXISHMSOIA 200,000 0 200,000

01 IXHHIMNEEXTZ 200,000 0 200,000
OWAd FEY S0t2l N 200,000

M HE SAA HASRSHA 35,880 0 35,880

308 AHXIEHSOIA 35,880 0 35,880

01 AIXSHMEAMNEX= 35,880 0 35,880
OMYUHME SAINH H2M& X 35,880

e &HOHQ LAY =& 8,000 0 8,000

201 LBt 9| 3,000 0 3,000

01 AP 22| d| 3,000 0 3,000
O0WA - 2ol LdXelAtE =& 3,000

202 044 5,000 0 5,000

01 2L Y| 5,000 0 5,000
O0Ad - ZOHC LdXelAtE =& 5,000

HQIEIEHH &9 309,820 382,770 NT2,950

308 XX SHHSOIH 309,820 382,770 ANT2,950




2N
X ZH -
L= B

el

Ol & ZO0§ el ed Xtel ot
e fxel X
HagltelAmg g2 & & =8

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
01 AIKSHMEAMNEX= 309,820 382,770 ANT2,950
O0MoEIfeMYH 2 309,820
HEQEILHEH JsEY 57,000 0 57,000
403 XX SHHS K20 & 57,000 0 57,000
01 XIS A2E X 57,000 0 57,000
O EHE JIsE2 57,000
ool N =X 11,065,668 8,169,330 2,896,338
= 8,290,992
J| 46,128
o= 2,728,548
SOl LXel Al g=2 & X =& 11,065,668 8,169,330 2,896,338
= 8,290,992
J| 46,128
o= 2,728,548
ZHoHQl 2Bty 2 x| XK (=21D) 5,552,378 4,773,960 778,418
= 4,626,982
=} 925,396
308 MXISHMSOIA 5,552,378 4,773,960 778,418
= 4,626,982
= 925,396
01 XHHIMNEEXTZ 5,552,378 4,773,960 778,418
OO ety AXel X 5,552,378
= 4,626,982
= 925,396
ZHOHQ!I AIZEAH 2 X2l KK (=21) 1,134,648 849,672 284,976
= 945,540
& 189,108
308 XHXIEHMSOlIA 1,134,648 849,672 284,976
= 945,540
= 189,108
01 AIXSHMENMNEX= 1,134,648 849,672 284,976
OO AlZ2HH LXel X 1,134,648
= 945,540
& 189,108
ZOel 2EXLRE XK (=21D) 2,420,192 1,788,059 632,133
= 2,016,827
& 403,365
308 XHXIGH SO0l & 2,420,192 1,788,059 632,133
= 2,016,827
& 403,365
01 IXHHIMNEXS 2,420,192 1,788,059 632, 133
OZofel EXexel X 2,420,192
= 2,016,827
= 403,365




2N
X ZH -
L= B
cel: 3

SA - BB B () - MM - BES Ol &t o San HmEET
LLENARQLABS A BEX(=1) 99,823 78,681 1,142
= 83,186
< 16,637
308 AHAIEHHSOIA 99,823 78,681 21,142
= 83,186
< 16,637
01 HIXNHHNBHELS 99,823 78,681 21,142
OLLHM 2AEZS A XA 99,823
= 83,186
< 16,637
EZSTQ NGYYESE FHGAJ(2D) 55,248 77,298 A 22,050
J| 46,128
< 9,120
308 XXM SO A 55,248 77,298 A 22,050
J| 46,128
< 9,120
01 IXNHHBANEES 55,248 77,298 A 22,050
O=sZM XNAEsE HEXNA 55,248
J| 46,128
< 9,120
ANZEEOHCl OFOLAF THA(= 1) 649,379 601,660 47,719
= 618,457
< 30,922
308 XX EHH SOl A 649,379 601,660 47,719
= 618,457
= 30,922
01 HXNHHNBHEELS 649,379 601,660 47,719
OAIZZ0HQl QFOFAL ItA 649,379
= 618,457
< 30,922
O DEEMHAS X 1,154,000 0 1,154,000
201 L2l 20,000 0 20,000
01 At 2t 2l 20,000 0 20,000
OFZME NE=EMFHAS X 20,000
308 XXM SO A 1,134,000 0 1,134,000
01 IXNHHBANEES 1,134,000 0 1,134,000
OHMe NEFXZA=S A& 1,134,000
HE2AZIH (WL Z0N L Rtel) 21,849 26, 161 24,312
Jl23dl 21,849 26,161 A4,312
EM29 JI=2Z 4l 21,849 26,161 A4,312
201 Let2d] 15,087 17,221 AN2,134
01 At 22l 15,087 17,221 A2,134




2N

Ol & ZO0§ el ed Xtel ot

H: HH2AAH(HE LX)
¢l =gl (chel & 9l)
SA - BB B () - MM - BES Ol &t o San HmEET
ORAM2Y AtR22ltl 15,087
202 oddl 3,762 5,940 A2,178
01 = LH 4 1l 3,762 5,940 A2,178
FA2E =WHHH 3,762
203 YR =&l 3,000 3,000 0
04 ENSSHRF=EHI 3,000 3,000 0
© 1521 Ol at 3,000






